120

N
ﬁ <
a /oO © ©o |

\
¥ o)

oo
=

o
\l

Backview

[ o

337.5

orm e\
- —
WV~

U U
o O

M 63.90 [ﬁ) 600.00 H

Frontview

| 1. LG LSBB LED Wall Cabinets computing & display solutions Infoline 041 511 00 11 Scale : A3-1:5 Nr : LSBBWallConfigs.sldrw Date : 09.03.2023 / NAN




POS-NR. BENENNUNG MENGE
1 |LG LSBB Cabinet 600x377.5x56mm 1
2 |Cabinet PCB Hub 190MGOHUBTPR50 1
3 |Receiver Card X500 1
4 |PSU GW-XSP200WV45B 1
5  |Cabinet Fixation Bolt M8 2
6  |Grub Screw M8x8 1ISO4026 8
7 |Pot Magnet M4 x d8.6x7 40
8  |LED Module 150x337.5mm 4

| 1.1 LG LSBB LED Wall Cabinets computing & display solutions Infoline 041 511 00 11 Scale : A3-1:5 Nr : LSBBWallConfigs.sldrw Date : 09.03.2023 / NAN




N

/

0%

| ogo 0 p ©o\ |
00,

J =)
00 @

00
S

1

\

N

a
Ja

T
o B

\J

ot %0 oo
% 0 o= O ﬁ 2 2 %
[ ogo °0 ! {

\J

; ; )
— (=
0 o g =)
8 Je) 0o/ |

oo O

Connection Plate Edge 67x42 \

Connection Plate 120x42

Cheese Head Hexagon M6x30 DIN912

| 2. Sample Cabinet Mount 3x3 Backview

computing & display solutions

Infoline 041 511 00 11 Scale : A3-1:7

Nr : LSBBWallConfigs.sldrw

Date : 09.03.2023 / NAN




1800

1012

LSBB P1.25

LSBB P1.5

Module 480 x 270

Module 384 x 216

Wall 3x3 ; 1440 x 810 Pixel

Wall 3x3 : 1152 x 648 Pixel

POS-NR. BENENNUNG MENGE
1 |LG LSBB Cabinet 600x377.5x56mm 9
2 |Grub Screw M8x8 1ISO4026 72
3 |LED Module 150x337.5mm 36
4 |Connection Plate 120x42 8
5 |Power Coppler Cable C14 male to C13 180mm 6
6  |Power Cable T12to C13 3
7 |Patch Cable RJ45 220mm 6
8  |Patch Cable RJ45 to Controller 3
9  |Connection Plate Edge 67x42 8
10  |Cheese Head Hexagon M6x30 DIN912 12
11 |Cheese Head Hexagon M6x16 DIN912 36

| 2.1 Cabinet Mount 3x3

computing & display solutions

Infoline 041 511 00 11 Scale : A3-1:7

Nr : LSBBWallConfigs.sldrw

Date : 09.03.2023 / NAN




2400

1350

POS-NR. BENENNUNG MENGE
1 |LG LSBB Cabinet 600x377.5x56mm 16
2 |Grub Screw M8x8 1ISO4026 128
3 |LED Module 150x337.5mm 64

LSBB P1.25 Module 480 x 270 Wall 4x4 : 1920 x 1080 Pixel 4 _|Comecton Plle 1202 s
5  |Power Coppler Cable C14 male to C13 180mm 12
6  |Power Cable T12to C13 4

LSBB P1.5 Module 384 x 216 Wall 4x4 : 1536 x 864 Pixel 7 |Patch Cable RI45 220mm 2
8  |Patch Cable RJ45 to Controller 4
9  |Connection Plate Edge 67x42 10
10  |Cheese Head Hexagon M6x30 DIN912 24
11 |Cheese Head Hexagon M6x16 DIN912 64

3.1 4x4 Cabinets computing & display solutions Infoline 041 511 00 11 Scale : A3-1:10 Nr : LSBBWallConfigs.sldrw Date : 16.04.2023 / NAN




3000

1687

POS-NR. BENENNUNG MENGE
1 |LG LSBB Cabinet 600x377.5x56mm 16
2 |Grub Screw M8x8 1ISO4026 128

LSBB P1.25 Module 480 x 270 Wall 5x5 : 2400 x 1350 Pixel 3 |LED Module 150x337.5mm 64
4 |Connection Plate 120x42 15

LSBB P1.5 Module 384 x 216 Wall 5x5 : 1920 x 1080 Pixel o Pover Copoler Cabe 014 male o G138 L
6  |Power Cable T12to C13 4
7 |Patch Cable RJ45 220mm 12
8  |Patch Cable RJ45 to Controller 4
9  |Connection Plate Edge 67x42 10
10  |Cheese Head Hexagon M6x30 DIN912 24
11 |Cheese Head Hexagon M6x16 DIN912 64

3.2 5x5 Cabinets computing & display solutions Infoline 041 511 00 11 Scale : A3 - 1:10 Nr : LSBBWallConfigs.sldrw Date : 16.04.2023 / NAN




POS-NR. BENENNUNG MENGE
1 |LG LSBB Cabinet 600x377.5x56mm 16
2 |Grub Screw M8x8 1ISO4026 128
LSBB P1.25 Module 480 x 270 Wall 6x6 : 2880 x 1620 Pixel 3 _[LED Modul 150,337 5mm o
4 |Connection Plate 120x42 15
. 5  |Power Coppler Cable C14 male to C13 180mm 12
LSBB P1.5 Module 384 x 216 Wall 6x6 : 2304 x 1296 Pixel ~ IPower Cabie T12 0 C13 .
7 |Patch Cable RJ45 220mm 12
8  |Patch Cable RJ45 to Controller 4
9  |Connection Plate Edge 67x42 10
10  |Cheese Head Hexagon M6x30 DIN912 24
11 |Cheese Head Hexagon M6x16 DIN912 64

3.2 5x5 Cabinets computing & display solutions Infoline 041 511 00 11 Scale : A3 - 1:12 Nr : LSBBWallConfigs.sldrw Date : 16.04.2023 / NAN




4200

2362

LSBB P1.25

LSBB P1.5

Module 480 x 270

Module 384 x 216

POS-NR. BENENNUNG MENGE
1 |LG LSBB Cabinet 600x377.5x56mm 49
2 |Grub Screw M8x8 1IS04026 392
Wall 7x7 : 3360 x 1890 Pixel 3 |LED Module 150x337.5mm 196
4 |Connection Plate 120x42 48
. 5  |Power Coppler Cable C14 male to C13 180mm 42
Wall 7x7 : 2688 x 1512 Pixel 5 Toower Cabe T1210.C13 -
7 |Patch Cable RJ45 220mm 42
8  |Patch Cable RJ45 to Controller 7
9  |Connection Plate Edge 67x42 16
10 |Cheese Head Hexagon M6x30 DIN912 84
11 |Cheese Head Hexagon M6x16 DIN912 196

3.2 7x7 Cabinets

computing & display solutions www.displaycenter.ch Infoline 041 511 0011 Scale : A3-1:15

Nr : LSBBWallConfigs.sldrw

Date : 16.04.2023 / NAN




